
Adding Doubles Plus 2 (E)Use an adding doubles strategy to find each sumExample: 4 + 6 = 4 + 4 + 2 = 8 + 2 = 1027 + 29 = 2 + 4 = 1 + 3 = 
21 + 23 = 8 + 10 = 12 + 14 = 
20 + 22 = 5 + 7 = 3 + 5 = 
24 + 26 = 14 + 16 = 6 + 8 = 
11 + 13 = 23 + 25 = 26 + 28 = 
18 + 20 = 10 + 12 = 9 + 11 = 
29 + 31 = 4 + 6 = 7 + 9 = 
16 + 18 = 30 + 32 = 15 + 17 = 
19 + 21 = 25 + 27 = 17 + 19 = 
22 + 24 = 13 + 15 = 28 + 30 = 
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Adding Doubles Plus 2 (E) AnswersUse an adding doubles strategy to find each sumExample: 4 + 6 = 4 + 4 + 2 = 8 + 2 = 1027 + 29 = 2 + 4 = 1 + 3 =27 + 27 + 2 = 56 2 + 2 + 2 = 6 1 + 1 + 2 = 454 + 2 = 56 4 + 2 = 6 2 + 2 = 421 + 23 = 8 + 10 = 12 + 14 =21 + 21 + 2 = 44 8 + 8 + 2 = 18 12 + 12 + 2 = 2642 + 2 = 44 16 + 2 = 18 24 + 2 = 2620 + 22 = 5 + 7 = 3 + 5 =20 + 20 + 2 = 42 5 + 5 + 2 = 12 3 + 3 + 2 = 840 + 2 = 42 10 + 2 = 12 6 + 2 = 824 + 26 = 14 + 16 = 6 + 8 =24 + 24 + 2 = 50 14 + 14 + 2 = 30 6 + 6 + 2 = 1448 + 2 = 50 28 + 2 = 30 12 + 2 = 1411 + 13 = 23 + 25 = 26 + 28 =11 + 11 + 2 = 24 23 + 23 + 2 = 48 26 + 26 + 2 = 5422 + 2 = 24 46 + 2 = 48 52 + 2 = 5418 + 20 = 10 + 12 = 9 + 11 =18 + 18 + 2 = 38 10 + 10 + 2 = 22 9 + 9 + 2 = 2036 + 2 = 38 20 + 2 = 22 18 + 2 = 2029 + 31 = 4 + 6 = 7 + 9 =29 + 29 + 2 = 60 4 + 4 + 2 = 10 7 + 7 + 2 = 1658 + 2 = 60 8 + 2 = 10 14 + 2 = 1616 + 18 = 30 + 32 = 15 + 17 =16 + 16 + 2 = 34 30 + 30 + 2 = 62 15 + 15 + 2 = 3232 + 2 = 34 60 + 2 = 62 30 + 2 = 3219 + 21 = 25 + 27 = 17 + 19 =19 + 19 + 2 = 40 25 + 25 + 2 = 52 17 + 17 + 2 = 3638 + 2 = 40 50 + 2 = 52 34 + 2 = 3622 + 24 = 13 + 15 = 28 + 30 =22 + 22 + 2 = 46 13 + 13 + 2 = 28 28 + 28 + 2 = 5844 + 2 = 46 26 + 2 = 28 56 + 2 = 58Math-Drills.Com


